H.W. SOLUTIONS: MATH 002 (Term 032)
Sec#4.4 | Prob.# 7 | Page# 339
SOLUTION:
1é 2 U
log x+-§|og y“-log 1z,
b~ 38 b b
=log x+£|og y - Elog z
b 3 b 3 b
Sec#4.4 | Prob.# 14 | Page# 339
SOLUTION:
log ‘?()/3222;2 L + Y =log ﬂ
b g Zg ngy g Y b X
Sec.# 4.4 | Prob.# 28 | Page# 340
SOLUTION:
Iog7 45 = Iog7 (5>62): Iog7 5+2Iog7 3
=0.8271+2(0.5646)=1.9563
Sec#4.4 | Prob.# 38 | Page# 340
SOLUTION:
g 17= logl7 _ 123045 _ .o,
0.2 log0.2 -0.69897
Sec#4.4 | Prob.# 46 | Page# 340
2
log(x+1)°  2loglk +
SOLUTION: Graph v(x):ﬂX—L:ﬂu
log2 log 2
A y
» X
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H.W. SOLUTIONS: MATH 002 (Term 032)

Sec#4.4 | Prob.# 72 | Page# 341

SOLUTION

_ Iog 20 Iog 60 IoglOO IongS [by canceling]

log5 log20 log60 1logl100
= a2 = log 125=log_5° =3log_5=3

lo

Iogs 20+og , 60 ¥og _ 100 ><Iog100 125 [change to common logarithm]

g5

Sec#4.4 | Prob.# 76 | Page# 341

SOLUTION

-3£logx £-2 [writing as powers of 10]
b 10" 3 £10109% £10-2

D £ X £ mtm
1000 100

b 0.001£x£0.01
b [0.001,0.01]

Written by: K. Saifullah

Sec.#4.5 | Prob.# 6 Page# 348

SOLUTION

. Solve:
34x-7:£
9
b3 7=32p 4x.7=-2

b 4x=5b XIE
4

Sec.#4.5 | Prob.# 16 Page# 348

SOLUTION:

eX*1 =20 [Taking In of both sides]
b IneX*l =120 b x+1=IN20b x=In20- 1

Sec#45 | Prob.# 28 | Page# 349

SOLUTION:

1+log (3x- 1)=log (2x +1)
P log10+log (3x- 1) =log (2x +1)log10 +log (3x - 1)=1log (2x +1)
b log (30x- 10) =log (2x +1)
P 30x-10=2x+1
P 28x =11
11

P X=mm
28
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H.W. SOLUTIONS: MATH 002 (Term 032)

Sec#45 | Prob.# 44 | Page# 349
SOLUTION:
e*- e X X - X
7215 Pe*-e =30

Multiply both sides by e* and simplify
e2X_30eX.1=0. Lety=eX

b y2-30y-1=0
Solving for y by the Quadratic Formula, we get

y=15+d026

eX =15+dP26 b IneX =In(15+dP26)

b x =In(15+d026)

But logarithm is undefined for negatives,
b x=In(5+dP26)

Sec#45 | Prob.# 78 Page# 352
SOLUTION:

The incorrect step is  log_ (8+8)=log _8+log 8

Sec#45 | Prob.# 79 | Page# 352
SOLUTION:

Suppose log(x+y)=logx+logy, [which is not true in general]
P log(x+y)- logy =logx

p Ioguzlogx
y

P %xzx P x+y=xybP x-xy=-y

P x1-y)=-yb leﬁL
-y

b x=-L
y-1

For the above value of x, the first equation is true.

Written by: K. Saifullah
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